PUZZLE OF THE WEEK

SOLUTION
Sheeps in a Pen

Farmer Black raises sheep and was raising them in modular pens,
He currently has 6 sheep in the following arrangement:

+—+ +—+ +—+ +—+ +—+ +—+

+—+ +—+ +—+ +—+ +—+ +—+

He needed some walls for another project so he rearranged
the pins like this:

o —p—p—+

o —p—p—p—+

He then found out he needs 7 more wall pieces to finish his project.
How did he rearrange the pens so that there was only 1 sheep per pen?

This is how the farmer could arrange the pens:

Be sure to check the next newsletter to see the solution! If you have questions about or
suggestions for the puzzle of the week, let Ms. Rush know!

Special thanks to mentalup.co for the puzzle



